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{10%) 1. Unaware that 35% of the 10,000 voters in his district still support him, a
politician decides to estimate his political strength. A sample of 200 voters
shows that 42% support him.

a. Isthe conclusion of the politician that 42% of the voters support him an
example of inferential or descriptive statistics?

b. What is the population?

c. What is the value of the parameter of interest?

d. What is the value of the statistic of interest?

(10%) 2.A business has 120 employees, each identified with an ID number with 3 digits
001,002,...099,100,...,120 . Explain clearly how you would choose a systematic
sample of 10 employees out of the 120 employees.

(27%) 3.The following data give the market value (in millions of U.S. dollars) in 1996, of
24 Canadian companies.

13,900 12,918 12,540 11,318 9729 8115
7493 7386 7045 7017 6806 6224
6008 5631 5473 5431 4364 4720
4693 4615 3979 3773 3704 3487

a. Construct a grouped-data table including frequencies, relative frequencies and
midpoints. Use classes of equal width starting with the class 3000 < 6000
million.

b. Draw a relative frequency histogram for the data.

b. What percentage of the companies is worth 9 billion or more? (1 billion =
1000 million)

{28%) 4. Following are the temperatures (in degrees Fahrenheit) observed during 8 wintry
days in a certain city.

23 14 6 0 2 9 16 19
a. Find the mean and the range of the data.
b. Find the variance and the standard deviation. (Use the computing formula).
c. Calculate the z-scores of the temperatures 16 and 2 .

(25%) 5. The following are the test scores of 12 students in a math class.

75 80 68 53 99 58 76 B85 88 91 79 73
a. Find the three quartiles.
b. Find the Interquartile Range and interpret it.
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